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AKFR
Lap Time Chart

1 MCRTIAMYYOYTRSE ¥ # SK-52

3= *51.259 5= 55.727 7= 54.791 9= 54.834
4= 51.294 6= 52.021 8= 52.028 10= 54.746
ELIAMNRSE E S ELFIFH—-XH B E 93 SK93 PIT: 1E
3= 52.611 5= 52.207 7= 52.399 9= *51.960
4= 52.287 6= 52.306 8= 52.371 10= 1'01.639

BE ACOSMOS79FHVLUYUPLUCES5?2u SK-5.2 PIT: 1

3= 51.448 5= 51.629 7= 1'01.554 9= *51.171
4= 52.070 6= 56.515 8 1'05.322

NRC RBRFFDOD#H BB SK52 SK-52 PIT:1H
2= 54522 3= ¥51.307 4

P6'17.370

IE AIMDRC— GRID VIVACE 908 VIVACES08

3= 1'02.161 5= 57.545 7= 57.928 9= 57.724
4= 58.350 6 1'11.983 8= 57.986

## TTDS-JFA-HEAD — VIVACE 7 VIVACE-7

3= 59.147 5= 56.955 7= 59.006 9= 1'00.277
4= 1'00.069 6= 56.883 8= *56.539 10= 56.668
E2OoyI N2 )V —-TBKM — GRID 7 VIVACE-7
3= 58773 5= 57439 7= 57320 9= 58.395
4= 58.517 6= 58.305 8= 57.348 10= 57.433
HAEIIILAvFL— Y VY SS/64 PIT: 1[H
3= 58.631 5= 58.408 7= 59.343 8= 59.265
4= %58.283 6= 58.638

— EK— One VIVACE — 7 VIVACE-7
3= 57.890 5= 57.888 7= 57405 9= 58.967
4= 58.301 6= 57.306 8= 58.319 10= *x57.244
B HEAST EYE CLINIC GRID VIVACE-7
3= 59.316 b= *57.362 7= 57.908 9= 58.438
4= 58902 6= 57.424 8= 57740 10= 57.535
{§E 8 WEST VIVACE 908 VIVACE90S8
3= 57.691 5= 58.144 7= 57.786 9= 59.628
4= 57.876 6= *57.688 8= 58.999 10= 57.773

NEE &)l B HGRIDxXFK4--Vivace— 908 VIVACE9S0S

3= 56700 5= 56.183 7= 56.450 9= 56.364

56.697

4= 56.691 6= 56.285 8= *¥56.034 10= 56.525
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RS'*TEZI‘U“JQjJ_ COURSE : Dry
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29 NEW A B BNUTEC %l 8 B -E & % GRID -7 VIVACE-7
1= 3= 57.983 5= 56.966 7= 57.051 9= 59.511 1= 57.883
2= 57.144 4= *56.890 6= 57.876 8= 57.438 10= 57.728
30 NEH#E # K 1 LA ROSSAX 1 —5 I AR —Y % 7 VIVACE-7
1= 3= *56.245 5= 56.356 7= 56.591 9= 56.994 1M1= 56.899
2= 56.526 4= 56.619 6= 56.611 8= 56.562 10= 56.716



